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QUESTION 1

A customer uses Active IQ Unified Manager to configure SnapMirror relationships. In this scenario, which statement is
true? (Choose the best answer.)

A. Active IQ Unified Manager and OnCommand WFA have licensing dependencies.

B. Active 1Q Unified Manager uses the OnCommand WFA API.

C. Automation works directly through Active 1Q Unified Manager and later versions.

D. Active IQ Unified Manager and OnCommand WFA cannot be installed on or work with the same cluster.

Correct Answer: B

QUESTION 2

How many global namespaces are there in a 4-node ONTAP cluster that has a single SVM? (Choose the best answer.)
Al

B. 4

C.8

D.2

Correct Answer: A

Reference: https://docs.netapp.com/ontap-9/topic/com.netapp.doc.dot-cm-concepts/GUID-78701FC22910-41FA-
AEF4-9E6245030189.html

QUESTION 3

Which three steps are required to serve NFS exports from your ONTAP system? (Choose three.)
A. You must create an export policy rule.

B. You must license CIFS.

C. You must create an SMB share.

D. You must license NFS.

E. You must have provisioned a volume to export.

Correct Answer: ABD

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.exp-
nfsv3-cg%2FGUIDA9424109-8286-4053-BBA9-3E542A73080A.html
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QUESTION 4

What are three firewall policies? (Choose three.)
A. cluster

B. node

C. data

D. mgmt

E. intercluster

Correct Answer: ACE

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-

nmg%2FGUID09329781-2E57-49E5-B052-EC4D6FEBB41B.html

QUESTION 5
Click the Exhibit button.

alphanal::> vlan show —-node alphanal-01 —vlan—-name elc-1

Nede: alphanal-01
VLAN Name: e0c-1
Associated Network Port: elc
Network Switch VLAN Identifier: 1
MAC address: 02:a0:98:7€:e5:da

alphanal::>net int show -vserver lab-fsl
(network interface show)

Logical Status Network
Vserver Interface Admin/Oper Address/Mask
lab-£fsl

lab-£fs1_1ifl up/up 10.1.100.199/24

alphanal::> net route show -vserver lab-fsl
(network route show)
There are no entries matching your gquery.

alphanal::> network ping -vserver lab-fsl -1if lab-fsl 1ifl
no answer from 10.1.100.1

alphanal::> network ping -vserver lab-fsl -1if lab-fsi_ 1ifl
no answer from 10.1.100.2

Current Current Is
Node Port Home
alphanal-01 elc-1 true

-destination 10.1.100.1

-destination 10.1.100.2

You are configuring a NetApp cluster to communicate on VLAN 1. However, the new LIF is unable to communicate with
any host in the VLAN. The network administrator has configured the switch port as an access (untagged) port on VLAN

1 and says that the VLAN is non-routed.

Referring to the exhibit, what would you do to troubleshoot this problem? (Choose the best answer.)
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A. Verify that there is not IP address conflict on the network.
B. Reconfigure the LIF to be on port eOc.

C. Add a default gateway.

D. Verify that the network cabling is working properly.

Correct Answer: B
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